REAR ADD-ON SWAY BAR

Installation Instructions BRI EAE, 17mm
%% B0 #Q0497

Application j# | i %Y

FORD FOCUS MK4
*W/TORSION BEAM REAR SUSPENSION is]
ERENREERER =

Components N & fd {4

@ Sway bar FHBEIRIRE ..o
(@ Bracket-RH SZZE-T oo
@ Bracket-LH STZE-7F ..o
@ Bolt ##% (M10x1.5x25)
® Nut 218 (M10x1.5-17x10)
® Washer ZE5] (26X10.5X2) ..o,
(D Bolt #8#% (M10x1.25x25) ........
Nut 218 (M10x1.25-14x9)

Caution = H1H

eInstallation is recommended to be performed by licensed mechanics with necessary tools
to ensure safety. Incorrect installation may cause injury, damage to the product or vehicle.
ZEBRZAGENRMETENTURRZE - RRERUEHAS  ERREREAES -

«Note the routing of wires and cables before installation, or please refer to factory manual.
ZERABSEAR MEBNZERBRERUBNESRELE - BREBRFSEREFMH -

Tighten bolts and nuts frimly by using handtools, and with specified torque if mentioned.
ZERBREFECAFH T ERBEHRIBERBS - AR RIEREFKERBE TR LH -

3. Install the sway bar using supplied M10x1.25 bolts
and nuts.
1. Drill a hole through the yellow circled lower spring seat hole (R FM10x1. 2588 4% RIRIE L E P 1% -

on the plastic underside cover. (See figure 1)
HEBETESEEHEEAN - NEB M EREAL - (22E)

Instructions %z % i B

2. Install RH/LH side brackets to the lower spring seat using
supplied M10x1.5 bolts, nuts and washers.
EAMEM10x1.58 %% -~ BIEKRZET - B/ ARIXREKEEE ME -

¥ llIstration of installed state
ZHEER~EE




